Тест Тригонометрические уравнения (простейшие)
Вариант 1
1. Решите уравнение 
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2.  Найдите все решения уравнения 
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3.  Решите уравнение 
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4.  Найдите все решения уравнения 
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5.  Решите уравнение 
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6.  Решите уравнение 
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7.  Решите уравнение 
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8. Решите уравнение 
[image: image35.wmf]1

2

2

-

=

x

сos


1)  
[image: image36.wmf]Z

n

n

Î

+

±

,

2

4

3

p

p

                            2) 
[image: image37.wmf]Z

n

n

Î

+

-

,

2

4

3

p

p

   

3) 
[image: image38.wmf]Z

n

n

Î

+

±

,

8

3

p

p

                               4) 
[image: image39.wmf]Z

n

n

Î

+

,

8

3

p

p


_1195567691.unknown

_1195568116.unknown

_1195568566.unknown

_1195568753.unknown

_1195568881.unknown

_1195569032.unknown

_1195569091.unknown

_1195569108.unknown

_1195569120.unknown

_1195569066.unknown

_1195568929.unknown

_1195568948.unknown

_1195568912.unknown

_1195568770.unknown

_1195568845.unknown

_1195568761.unknown

_1195568659.unknown

_1195568723.unknown

_1195568625.unknown

_1195568423.unknown

_1195568439.unknown

_1195568458.unknown

_1195568190.unknown

_1195568288.unknown

_1195568401.unknown

_1195568134.unknown

_1195567943.unknown

_1195568098.unknown

_1195567706.unknown

_1195567355.unknown

_1195567643.unknown

_1195567673.unknown

_1195567582.unknown

_1195567271.unknown

_1195567331.unknown

_1195567220.unknown

